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1. The boxes of the number pyramid given below are filled by the rule “the sum of two adjacent num-
bers is written in the top box” and then some of the numbers in the boxes are deleted.

Ayenkn yncnoson Nnupamuabl, NPUBEAEHHOW HUXKE, 3arnOfTHAOTCSA MO NpaBuIly «CyMma AByX COCEeQHUX
4yucern 3anucbiBaeTca B siYenke Hag HUMW». [locne 3anonHeHus, HEKOTopble Yucna B syenkax
cTupatoTcs.

7 1\\ According to this what is the number in the box with question mark?
j . S B cooTtBeTCTBUM C 3TUM, KaKoe YNCIOo CTOUT BMecTo “?” 7
7 NS OXN
DRERE
A) 18 B) 19 C) 20 D) 21 E) 22

2. At least 3 digits of a 5 digit number are less than 5 and at least 3 of which are odd digit.
What is the sum of the digits of the greatest number satisfying the above conditions?

He meHee 3 umdp NATM3HAYHOrO YmMcna AOoMKHbl OblTb MEHbLUE 5, U HE MeHee 3 Lundp 3TOro xe
yumcna OOMKHbl OblTb HEYETHBIMW.
Yemy paBHa cymma Lmngp HanbonbLlero Ymcna, yaoBneTBOpStoLLEro BbllLleyKa3aHHbIM YCoBUAM?
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There are 50 pigeons on a wire. The sparrows are placed so that there are two pigeons on the left
and right of each sparrow. Finally, owls are placed on the wire, provided that no owl is next to one
another. According to this at most how many birds are there on the wire?

Ha npoonoke 50 rony6en. 3atem Tyaa cenun BOpoObK Tak, YTO CrieBa M CrpaBa OT KaXKaoro BOpobbs
Obino no aea rony6s. HakoHew, Ha NPOBOMOKY CagATCA COBbI NMPY YCMOBUK, YTO HU OOHA COBa He
oKaxeTca psgom ¢ gpyron. CornmacHo 3ToMy, HanmauTe Haubonbllee 3Ha4YeHue KormyecTBa
NTUL, KOTOPbIE HAXOOATCS HA MPOBOJIOKE.

A) 141 B) 143 C) 145 D) 149 E) 151

4. Each of the shapes(, and A represents a number. By using these shapes two equality is
given below.

Kaxgas ns duryp 7, n A npeacTaBnser Kakoe - TO YMcno. Mcnonb3ys aTn urypbl, HUXe

npueeaeHbl ABa paBeHCTBaA

+O+ N+ =+ O+ +

+l+A=A+A+A+A+

According to given equations how many 4. are there in the sumi + 1 ?

Ckonbko 4 nonyyaetca ( + | cornacHo AaHHbIM paBeHcTaM?

A)9 B) 8 C)7 D)6 E)S
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5. The sum of the digits of a four-digit number with different digits is 6. What is the sum of the great-
est and the smallest value of such number?

CyMmma undp 4YeTblpexaHayHoOro 4yucrna ¢ pasHbiMM umudpamy paBHa 6. Yemy paBHa cymma
HaMbOmMbLLEro U HaMMEeHbLLIEro 3HaYEHUIN TAKOTO YeTbIPEX3HAYHOIO Yncna?

A) 4233 B) 4320 C) 4340 D) 4350 E) 4400
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6. In the fgure above, a visual of the 820 m road between the home and school of Esin, who attends
the 3rd grade of primary school, is given. Esin, from school and her mother, from home, starts walk-
ing towards each other along the road .

One step of Esin’s mother is 60 cm and one step of Esin is 40 cm.

After having 800 steps each what is the distance in meter between them?

Ha pucyHke Bbille nokasaHo nsobpaxeHne goporn gnuHon 820 M mexay 4OMOM W LLKONOW JCUH,
KoTopas yumTcs B 3-M Kracce.

OCWH 13 WKOMbl 1 €€ MaMa 13 AoMa HauMHaKT MATU HaBCTpedy Apyr Apyry no aton gopore. OguH
war Mmambl OcuH - 60 cm, a oguH war AcuH - 40 cm.

Uemy ByaeTt paBHO pacCTodHME B METPaX MeXay HUMK, ecnn Kaxkabii nponget no 800 waros?
A)8 B) 12 C)16 D) 20 E) 24
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Pine Hornbeam  Sycamore
CcocHa rpab nnaTaH

A district municipality has carried out afforestation activities by using 8 trees by using 3 different
types of trees so that the distance between two consecutive trees of the same type is constant and
the trees are on a straight line.

The distance between the first tree and the last tree is 118 m and the distance between two plane
trees is 45 m, how many metres is the distance between pine and hornbeam trees?

PanoHHbIN MYHUUUNANUTET NPOBEST MEPONPUATUA MO obrneceHuo, NCcnonb3y4 8 OepeBbeB 3 pa3HbIX
TUNOB, TaK YTO paCCToAHNE MEXAY ABYMA nocreaoBarteribHbiIMU AepeBbAMIU OOHOIO U TOIO XXe TUMna
ABMSAETCA OQMHAKOBLIM N JepeBbsA pacnonaraoTca Ha NPsMoun NIUHUN.

PacctosiHne mexay nepsbiM 1 nocnegHum aepesom 118 M, a pacctosiHue Mexay AByMs nnaTtaHamu
45 M. Yemy paBHO paccTosiHMe Mexay COCHOM 1 rpabom?

A) 17 B) 22 C) 24 D) 27 E) 28
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8. The figure below was obtained with the help of three rectangles intersecting at right angles.
PucyHOK HMke nonyyeH ¢ NOMOLLIbIO TPeX MPSIMOYTOfIbHUKOB, NEPEeCEKatoLLMXCS NOA NPSMbIM YTIIOM.

How many rectangles are there in the figure?
CKOmMbKO NPsiMOYroribHUKOB Ha PUCYHKe?

A) 11 B) 12 C)10 D)9 E)13

9. The figure on the left shows an automatic candy box
that dispenses the bottom row of candies from a ran-
dom compartment every time 1 % is thrown.

Minimum, how many 1 £ can Bahar, who likes to eat
red candies,put into the machine to guarantee at least
one red candy?

Ha pucyHke Bblle nokasaHa aBTomaTudeckast Kopodka
KOHGOET, KoTopas Kaxabll pa3 npu BblbpacbiBaHun 1
© BblOAET KOHMETY U3 HWXKHEro psga U3 CryYamHoro
oTaeneHus.

MuHUMYyM ckonbko 1 £ QormkHa NONOXWUTb B KOPOOKY
baxap, kotopasa nwbuT KpacHble KOHGETbI, 4YTOOBbI
rapaHTUpoBaTtb XOTsl Obl OAHY KpaCHYH KOHJeTy?

A) 6 B) 10 C)11 D)12 E) 15
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10. When 53 is added to or 53 is subtracted from a two-digit natural number, if the result is not
two-digit, let’s call that number a “Troublesome Number”.

How many Troublesome Numbers are there?

Ecnn npu yBenuuyeHun wunv ymeHblUeHWM M6Ooro HaTypanbHOro ABY3HA4YHOro 4ucra Ha 53,
pesynbrtaTt 6yaeT He ABY3HAYHbIM YMCIIOM, HA30BEM 3TO YUCIO «MPOGNEMHbLIM YUCITOMY.

CKOnbKO Takmx NPoBieMHbIX Y1Cen CyLecTBYeT?

A) 18 B) 17 C)16 D)15 E) 14

11. Numbers that are read the same both in front and backwards are called “Palindrome
numbers”.For instance 434 and 1331 are two palindrome numbers. What is the greatest value of
the difference of two three-digit palindrome numbers whose sum of the digits is 137

Uucna, KoTopble YNTatTCA 0OQMHAKOBO CrieBa HamnpaBo M CrpaBa HaneBo, Ha3blBaloTCS
«vymncnamunanuHgpomammy». Hanpumep, 434 n 1331 — yncna-nanvHapomel. Yemy paBHO
HanbornbLlOe 3Ha4YeHNe pasHULbl ABYX TPE3HAYHbLIX YNCeN-NanMHAPOMOB, CyMMa LMp KOTOPbIX
paBHa 137?

A) 334 B) 324 C) 243 D) 233 E) 143
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12.

In a class of 34 students, there are 13 desks. The students sat in all of these desks with 2 or 3
people. According to this, in how many desks there are 2 students sitting?

B knacce n3 34 yyeHukoB 13 napT. YyeHuKM cugenu 3a BCceMu 3TUMM napTamu no 2 unuv no 3
yyeHuka. CornacHo 3TOMy, 3a CKOSTbKMMU NapTaMun CUOAT 2 yYyeHuka?

A)5 B) 6 C)7 D)8 E)9

13. Among the three friends named Asena, Bergcem and Cemile, Asena is 150 cm tall.
The height diference between Asena and Bergem is 7 cm and the height diference between Bergem

and Cemile is 5 cm.
According to this, which of the following can not be the height of Cemile in cm?

Cpenou Tpex gpysen no nmeHn AceHa, bepyem n [xamuns poct AceHbl coctaBnseT 150 cm.
PasHuua B pocte mexay AceHon n bepyem coctaBndaeT 7 cM, a pasHuua B pocte mexay bepyem n
[>xamunénm — 5 cm.

CornacHo aTomy, Kakoe U3 NepeYnNCcrneHHoOro He MoXeT bbITb pocToM [xamunum B cm?

A) 138 B) 148 C) 152 D) 156 E) 162
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14. Mrs Ayse bought 4 pencils and 3 erasers from the stationery shop for her children and paid
107 $.

locnoxa Alille Kynuna CBoUM AeTSIM B Mara3uHe KaHUEensapCcKknx ToBapoB 4 kKapaHgalla u 3 nactmka
n 3annatuna 107 %.

If the price of one pencil is 17 % then what is the price of one eraser?
Ecnu ueHa ogHoro kapaHgawa coctasnseT 17 £, To CKONbKO CTOUT OAWH NacTuK?

A)9 B) 11 C) 13 D) 14 E) 15

15. A squirrel stops 3 times while taking the walnuts it col-
lects in the forest to its home. At each break, it eats half
of the walnuts it carries and takes 12 walnuts home.

According to this, how many walnuts did this squirrel eat

on the road?

Benka octaHaBnuBaetcsa 3 pasa, Heca k cebe gomon

\ opexu, KoTopble cobpana B necy. Ha kaxxgom
0 i nepepbiBe OHa CbefaeT NofTIOBUHY OPEXOB, KOTOPbIe
OHa HOCUT 1 3abupaeT Aomon 12 OpexoB.
CornacHo aTomy, CKOfbKO OpPeXoB Cbena ata benka Ha
aopore?

A) 96 B) 90 C) 84 D) 36 E) 24
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16. The following information is given about three siblings going to 3rd, 4th and 5th grades.
Ali is not older then Asli
Asli not olden then Asya

According to the informations given above , which of the followings shows the order of these siblings
from the youngest to the oldest?

A) Asya - Ali - Asl B) Asya - Asli - Al C) Ali - Asli - Asya
D) Asli - Ali -Asya E) Asli - Asya - Al

CnepytoLlas nHdopmMauus AaHa o AeTaX, KoTopble xoasaT B 3, 4 1 5 knaccbl.

Anv He ctapwe Acnbl
Acnbl He cTaplle Acu

CornacHo MHopmauum, npuBeaeHHON Bbllle, Kakoe M3 crnegyrowlero nokasbliBaeT nopAaaok 3Tux
AeTten oT camoro mnagwero o camoro CTapUJeFO?

A) Aca - Anu - Acnbl B) Aca - Acnbl - Ann C) Anu - Acnbl - Acst
D) Acnbl - Ann - Acst E) Acnbl - Acsa - Ann

17. Two unbalanced balances are given below.
Hwxe npmBeaeHbl ABe HecbanaHCUPOBaHHbIE BECHI.

11
7 10

— - 8 12 .’

In this balances if the mass of the is a natural number, what is that number ?

B atnx Becax, ecnu 3HavyeHue ABNdAeTCA HaTtypalibHbIM YNCITOM, TO YEMY paBHO ?

A) 15 B) 16 C) 17 D) 18 E) 19
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18. The first 3 steps of a pattern obtained by joining squares with a side length of 1 cm are given
below.

Hwxe npmBeaeHs! 3 waryn nocrnegoBaTenbHOCTU Uryp, NOMyYeHHbIX COeAUHEHUEM KBaApaToOB CO
CTOpPOHON 1 CM.

LI | |

What is the circumference of the shape obtained in the 10 th step of this pattern?
Uemy paBeH nepumeTp durypsbl, nory4eHHon Ha 10-m wary aTon nocrnegosaTtenibHOCTN?

A) 60 B) 62 C) 64 D) 80 E) 92

19. A balance in equilibrium is given below.
Hwxe oaHbl BeCbl B paBHOBECUM .

Ada

According to this, which of the following balance cannot be in equilibrium?
CornacHo aTomy, Kakme U3 crneayoLmx BECOB HE MOTyT HAXOOUTbCA B paBHOBECUN?

a AAA
._l_-
¢ ik

-._l_—

AAA A
-_l_-
v

-._l_.-

E:
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20. A sketch of a park is given below.
Hwxe npencraBneH 4epTéx napka.

60 m

70m

120 m 8

L]

LE] []

How many metres does Ali run if he rans 3 laps around this park?
Ckonbko MeTpoB nNpobexuT Anu, ecnmn oH NpobexuT 3 pasa BOKPYr 3TOro napka?
A) 750 B) 1000 C) 1250 D) 1500 E) 1750




